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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9212

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9212

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9212

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9212

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9212
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19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9212

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9212

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9212




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9212 P.T.O.



[A]

46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9212

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9212 T 0.



[A]

[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9212

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT

Level-3/9212
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.



[A]
71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4

Level-3/9212
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71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9

Level-3/9212

77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg

[18]

83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat

Level-3/9212
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[A]

AT - IV / PART - IV
AN / SOCIOLOGY

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

frfofeg & ¥ @9 ‘dieTizaee o
e Ee H AT & 7

(1) T+ fife=a

(2) THo Hlo g

(3) A= f&s

(4) THo THo Sfiva™

frefofeq & @ fg
CEERIIEERIGT S
sfear & 78 @ R ?
(1) 30 &
(2) 7 &9

(3) Q@] &=
(4) sl &=

fFrefafed & & g e & sEd

%d o el & |l Gae (Bee

IR) ® WA 7@ AT B ?

(1) 969 & A §S1 964 & Bl 4
ferame

(2) 959 @ A O A ' B P
q foare

(3) g&9 @ T frr & o B A
ferere

(4) 69 H 39 7M1 B B A foare

‘T @ T T & GHI
faemT &1 foammene T SEEi §

& () @
AT AU 3

(1) wRefd

(2) TRTST
(3) VA

(4) wWRa

Level-3/9212

o1.

92.

93.

94.

Out of the following who is the author
of '"Modernization of Indian Tradition' ?
(1) Anthony Giddens

(2) S. C. Dubey

(3) Yogendra Singh

(4) M. N. Srinivas

Out of the following which Zone has
not been discussed by Irawati Karve
in 'Kinship Map of India' ?

(1) The Northern Zone

(2) The Central Zone

(3) The North-East Zone

(4) The Southern Zone

Out of the following which marriage
is not considered preferred marriage in
Southern Zone according to Irawati
Karve ?

(1) man with elder sister's daughter
(2) man with father's sister's daughter

(3) man with father's brother's

daughter
(4) man with maternal uncle's daughter

The Head Department of Sociology, 'A'
University Ram Ganj is an example
of :

(1) Status
(2) Office
(3) Station
(4) Stratum

P.T.O.



[A]
95

96.

97.

98.

99.

fFriicied § @ f6g faEaRs 3 9ian
e I RER]
(Cooperative Conflict) @I ==l &l & ?

(1) e a9

(2) #MRo Yo TR

(3) To ¥Ro IAE

(4) I°= R

e & @ -1 HRE STy

%B?wﬁqﬁaéwaarg@q%q%?

(1) sfewfiser

(2) TIpBIHIT

(3) ot @ AEeie whad (&) @t
QEWT

(4) LT & IR

frefofeq ool 4 8§ 9%

fFamr ma & & @l gwhe

ara:fpan fafse &1 o TR B 7

(1) Sfo Hio B

(2) Hio THo Fd

(3) Tee Thics

(4) e R

frfefag & @ &9 e fadr @

qEH B 7

(1) = s%

(2) Tl s

(3) fafeaw Safeaa

(4) gtma RBd

frfefeg & § @9 ‘TN 9

ST’ T I&TeX 78 & °

(1) & W9 qHoTs STaied

(2) HAfeael H A=A

(3) =fE T F A=A

(4) TR () TR STaia

Level-3/9212
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95.

96.

97.

98.

99.

Out of the following which scholar
has talked about 'Cooperative
Conflict' in family system ?

(1) Amartya Sen

(2) 1. P. Desai

(3) A.R. Desai

(4) Yogendra Singh

Out of the following which one is

not the key aspect of change in the
rise of modernity ?

(1) Industrialization
(2) Rationalization

(3) Unity of private and public
spheres

(4) Rise of nation-state

Out of the following which
Sociologist states that all social
interaction is a kind of exchange ?

(1) G.C. Homans

(2) C. H. Cooley

(3) Robert Redfield

(4) Milton Singer

Out of the following who is the
author of 'Risk Society' ?

(1) Ulrich Beck

(2) Anthony Giddens

(3) William Dalrymple

(4) Thomas Piketty

Out of the following which is not an
example of 'New Social Movement' ?

(1) The Green Social Movement
(2) The Women's Movement

(3) The Labour Class Movement
(4) The Gay Rights Movement



100.

101.

102.

103.

104.

e @ Aifdearel e ¥ &
g F ffied § 9 9961 & 6
YR H S&g 78 § ?

(1) Ty |rEE
(2) TRE G99
(3) YEN TE S
(4) =T GEST

frefofag & @ @9-a1 e 184t
Al & gHNe dER ¥ Ead
7& 2 ?

(1) &4

(2) ¥ I

(3) HIUTER

(4) FErfesT aEH

Frefofed d  a-a1 gw S
T & 9 TF o759 @ |

ffifd gomm 8, ToT e ?
1M AT ¥
(1) 3o dlo 3@ wWgaM
(2) %o THo FHUeAT  wETE™l
(3) Wo THo M RIEE
(4) A | Frar

(IR afER & TS oTere)

qeH Haha di T desfedl | |
P -EER SHEen 9 M
Frest W sgaa 787 & T el § 7
OEEEEER

(2) A (SH) 1A

(3) W

(4) GTRTEHR STE

TSI H1 Tkl § e
frg =T @ =t I ¥ 78 A

(1) HaZ-THS g

(2) Ya-GfsHATS Stae
(3) UST-HisHATHE STl
(4) ST wWihaTeTs STae

g9
g7
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100.

101.

102.

103.

104.

[A]

Out of the following which type
of society has mot been mentioned
by Karl Marx in materialistic
interpretation of History ?

(1) Primitive Communism

(2) Traditional Society

(3) Ancient Society

(4) Feudal Society

Out of the following which Scholar
is not associated with 18th century
social thought ?

(1) Rousseau

(2) Max Weber

(3) Montesquieu

(4) Giambattista Vico

Out of the following which pair
consisting of name of sociologist and
place of study, is incorrect ?

Name Place of Study
(1) L P. Desai Mahuva
(2) K. M. Kapadia  Navasari
(3) M. S. Gore Bombay
(4) Aileen Ross Banglore

(Studies relating to Indian Family)

Out of the following which method
of data collection can not be used on
sample comprising illiterate population ?
(1) Observation

(2) Case Study

(3) Questionnaire

(4) Interview Schedule

Out of the following which stage has
not been pointed out by Piaget in the
process of Socialization ?

(1) The Sensorimotor Stage

(2) The Pre-Operational Stage

(3) The Post-Operational Stage

(4) The Formal Operational Stage

P.T.O.



[A]

105

106.

107.

108.

109.

. TR Ed & FER Gt qRedH
g foe & 9y an-a Rufy
g 78 & °?
(1) STeYE T o4
(2) SgTaET & WX
(3) Hem
(4) TSI & wid SR

frfafad & | S-S g e |/
i ® 7

(1) e

(2) URE™ g99

(3) URER

(4) =g

IR (FTHHGS) ATTR T afsd
(Pergs) Rl & 9 H QI
TR T ARl T S fobell & ?
(1) T Ao

(2) T MBHA

(3) Tlo TJo g

(4) 9o FHo Wed

Frefefed & @ SA-d gk, Reas

PEE & HAGHAR HMG HRASh bl
et § a=s 78 © ¢

(1) ST=aHT

(2) ga-=e

(3) =

(4) Ay

T URAR e OEE ade @ fqare
 URUTERGEY U SfEr S did
qrar-faen afafed €, wean ® ¢

(1) feega aREr)

(2) §FF IRaX

(3) gifad aRar
(4) Thd AHAED TRAX
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105.

106.

107.

108.

109.

According to Gunnar Myrdal which
'condition' is not associated with
Social Change and Development ?
(1) Output and Income

(2) Levels of Living

(3) Institutions

(4) Attitudes towards polity

Out of the following which custom is
related to pregnancy ?

(1) Couvade

(2) Joking relationship

(3) Avoidance relationship

(4) Avunculate

The classification of Social interaction
into unfocussed interaction and
focussed interaction is given by :

(1) Max Weber

(2) Erving Goffman

(3) T. H. Marshall

(4) R. K. Merton

Out of the following which process,
according to Sigmund Freud is not
linked with account of Human Mind ?

(1) Unconscious
(2) Pre-conscious
(3) Conscious

(4) Super-conscious

A family unit that includes one or
more step-parents as a consequence
of divorce and marriage is termed as :
(1) Extended Family

(2) Joint Family

(3) Reconstituted Family

(4) Single-Parent Family



110.

111.

112.

113.

114.

115.

(1)34%4??411%25

(2) dfeFe weTEH

(3) TS STeH%

4) o Mfe=

frefafaq A @t § |
fped & 1917 § G TR

g or 7
(1) frsg (2) e
3) =i (4) BT

frefofad & 9 fpe wHemEl S
THNINES & Ao & favg § A agqat
(Nine Theses) &I S&q 6 & 7

(1) Tt ffs

frfefaa & & de-ar aor T (e
TE0 AR S g § ol Ry dH)
gt % qffers 7e7 & & ?

(1) ST (2) &=

(3) AT 4) &

AR A & FAER SHH-a1 v
BT & HERor H Fa9d 78 § 7
(1) S (2) TEEEE

(3) NfcpareE  (4) SFedemE
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110.

111.

112.

113.

114.

115.

[A]

Out of the following which Sociologist
has devised Class, Status and Party
as independent forms of stratification ?
(1) Max Weber

(2) Karl Marx

(3) Emile Durkheim

(4) Noam Chomsky

Out of the following scholars, who
examines Nation as an 'Imagined
Community"' ?

(1) Achin Vanik

(2) Benedict Anderson

(3) Aijaz Ahmad

(4) Anthony Giddens

Out of the following in which
University of India, Sociology was
introduced in 1917 ?

(1) Mysore (2) Delhi

(3) Bombay (4) Calcutta

Out of the following sociologists
who has elaborated Nine Theses on
the future of Sociology ?

(1) Anthony Giddens

(2) Erving Goffman

(3) Martin Heidegger

(4) Perry Anderson

Out of the following which Varna is
not categorized as 'Dvija’ (Twice
Born) ?

(1) Brahmin
(3) Vaishya

(2) Kshatriya
(4) Shudra

In the opinion of Auguste Comte,
which discipline is not an organ of
"The Hierarchy of Sciences' ?

(1) Astronomy (2) Chemistry

(3) Physics (4) Economics

P.T.O.
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116.

117.

118.

119.

120.

9 2020 e 1008 goafary & ?

(1) IR Bid
(2) FIE A
(3) famper R
(4) H9E T

S I 5 o O e B E G LS Bl S
HE G H oTE%d B §, O I8
SO FQ E

(1) Tefardl emeTeen

(2) HEHAE! e

(3) SWicHIG STHET

(4) AR STHEET
frfofag arf-g=t & @ fpg a-
wwm%%‘a il
Moy ¥ 78 R ?

(1) %A T wa (W 999 @ )
(2) 3= @ W=

(3) ficeArex @ S+

(4) TEREE e <fees
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116.

117.

118.

119.

120.

Year 2020 1is the
Anniversary of :

100th Death

(1) Auguste Comte
(2) Karl Marx

(3) Vilfredo Pareto
(4) Max Weber

Out of the following 'Vedas' which
one is the most ancient text ?

(1) Samaveda

(2) Atharvaveda

(3) Yajurveda

(4) Rigveda

Out of the following which attribute
or property that allows for
calculability and predictability to
bureaucracy ?

(1) Formal Rationality

(2) Social Norms

(3) Religion

(4) Situational Decisions

When rules that govern social life
fail, it leads to :

(1) Altruistic Suicide
(2) Egoistic Suicide
(3) Anomic Suicide
(4) Fatalistic Suicide

Out of the following which pair of
class has not been used by Karl
Marx in 'The Communist Manifesto' ?

(1) Freeman and Slave

(2) Upper and Lower

(3) Guildmaster and Journeyman
(4) Patrician and Plebeian



121.

122.

123.

124.

125.

At SUFM & ded ¥ efeRad
T8 a-d v 99 Sia (ghA
) B 78 © 7

(1) ni¥d

(2) diidd

(3) IgRWE-ARHRId

(4) Sreqarl
frefofeg & @ &9 ‘T QREISEET
ZARFIT & aEH & 7

(1) So THo i

(2) Flo s=go HE

(3) X TR

(4) €4 54

Frefaied d§ | e ‘emors
T’ ® HENS qHaE &

S3

‘T FEPRT T@Y (B Ye) T e
g e § U Th G 89 4
TR GG & | o &, @ 9RemE-
WEY HIF-G1 YR I et & 7
(1) "R ghrer
(2) "&ia T
(3) ¥ I
(4) HEPHT foeeem
Freifafaa & & aaae & (|9 2020)
;R;ﬁqwawqﬁqawawaﬁﬁ
(1) ISl oo
(2) M= FAR
(3) oI qed
(4) 9o gfaq
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121.

122.

123.

124.

125.

[A]

Out of the following which is not the
characteristic of Human Beings in
context of individualistic approach ?
(1) Dependent

(2) Rational

(3) Goal-Oriented

(4) Egoistic

Out of the following who is the author
of '"The Sociological Imagination' ?
(1) J. S. Mill

(2) C. W. Mills

(3) Peter Berger

(4) Steve Bruce

Out of the following who treats
'Comparative  Sociology' as a
synonym to 'Social Anthropology' ?
(1) Auguste Comte

(2) Louis Dumont

(3) A.R. Radcliffe Brown

(4) Herbert Spencer

'When culture pattern spreads from
one group of people to another and
from one culture area to another', the
outcome as concept is known as :

(1) Culture History

(2) Culture Cycle

(3) Culture Growth

(4) Culture Diffusion

Out of the following who is the
President of Indian Sociological
Society at Present (year 2020) ?

(1) Paramjeet Judge
(2) Anand Kumar
(3) Sujata Patel

(4) R. Indira

P.T.O.
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126.

127.

128.

129.

130.

'Groups exist and function prior to
the individual' means :

(1) Group priority
(2) Group functionality
(3) Social activities

(4) Group Dilemma

Out of the following which attribute
is wrong about Melvin M. Tumin's
ideas on Social Stratification ?

(1) Itis ancient

(2) Itis uniform in its forms

(3) Itis universal

(4) Itis consequential

"The internal structures of family in
India are sub-structures of power and
authority and of sentiments and
work' is statement of :

(I) T. N. Madan

(2) Aileen Ross

(3) Patricia Uberoi

(4) Shobhita Jain

A collection of persons who have the
same status and perform the same
roles, is known as :

(1) Statistical Category

(2) Social Category

(3) Association

(4) Informal Group

When we say poverty causes
illiteracy, illiteracy becomes :

(1) Dependent Variable

(2) Independent Variable

(3) Interdependent Variable

(4) Correlation
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131.
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133.

134.

135.

[A]

The classification in the form of
'Gemeinschaft' and 'Gesellschaft' is
based on the ideas of :

(1) Ferdinand Tonnies

(2) C. H. Cooley

(3) W. G. Sumner

(4) Robert Bierstedt

Out of the following who has
authored 'The Coming Crisis of
Western Sociology' ?

(1) T. B. Bottomore
(2) Talcott Parsons
(3) Alvin Gouldner
(4) Alan Swingwood

Dialectical relations between mind,
self and society are established in the
ideas of :

(1) C. H. Cooley

(2) G. H. Mead

(3) Erving Goffman

(4) Jurgen Habermas

The marriage of a male from a lower
caste to a woman of a higher caste in
Hindu Society is known as :

(1) Brahma Vivah
(2) Anuloma Vivah
(3) Arsha Vivah
(4) Pratiloma Vivah

Out of the following which book has
not been written by Karl Marx ?

(1) The Origin of the Family,
Private Property and the State

(2) The Class Struggles in France
(3) The Communist Manifesto
(4) The Grundrisse
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139.
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Out of the following which type of role
has been discussed by Talcott Parsons ?
(1) Prescribed Roles

(2) Sick's Roles

(3) Subjective Roles

(4) Enacted Roles

Out of the following which type of
society has mot been discussed by
Herbert Spencer in his classificatory
scheme ?

(1) Simple Society

(2) Compound Society

(3) Simple Compound Society
(4) Doubly Compound Society

Out of the following which Indian
Sociologist belongs to 'Bombay
School of Sociology' ?

(1) A. K. Saran

(2) A.R. Desai

(3) D. P. Mukerji

(4) Andre Beteille

According to Karl Polanyi, the period
in  which modern societies and
sociology are emerged, is known as :

(1) Industrial Revolution
(2) Great Movement

(3) Great Transformation
(4) French Revolution

Out of the following which stage has
not been framed by Auguste Comte
in the discussion of 'Law of Three
Stages' ?

(1) Philosophical Stage

(2) Theological Stage

(3) Metaphysical Stage

(4) Positivistic Stage
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141.
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145.

[A]

Out of the following which
sociologist replaced 'Social Order'
and 'Social Progress' by 'Social
Statics' and 'Social Dynamics' ?

(1) Herbert Spencer

(2) Auguste Comte

(3) Emile Durkheim

(4) Anthony Giddens

Out of the following which is not
treated as one of the stages of
method in experimental sciences
including sociology ?

(1) Formulation of the Problem

(2) Description

(3) Observation

(4) Hypothesis

Out of the following which factor is
not involved in  productive
organizations ?

(1) Work materials

(2) Personnel

(3) Technology

(4) Social function

Out of the following which level of
mental development in society has
not been pointed out by L. T.
Hobhouse ?

(1) The simpler, Pre-Literate Societies

(2) Literacy and Proto-Science

(3) Reflection in the Later West

(4) Critical and systematic thought
in Greece

Out of the following who has opined

that the existence of status groups

does not eliminate class conflict ?

(1) Karl Marx

(2) Max Weber

(3) Randall Collins

(4) Talcott Parsons
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146.

147.

148.

149.

150.

Social system of Rampura Village
located in Mysore District of South
India has been studied by :

(1) S. C. Dubey

(2) Andre Beteille

(3) M. N. Srinivas

(4) T. K. Oommen

Out of the following which scholar did
not discuss broad sociological themes
within a non-sociological discourse ?
(1) Aristotle (2) Plato

(3) Durkheim  (4) Hobbes

Out of the following which stages
have been discussed as path of
development of Sociology by Alex
Inkeles ?

(1) Evolutionary, Descriptive,
Scientific

(2) Comparative, Empirical,
Analytical

(3) Historical, Empirical, Analytical

(4) Historical, Comparative,
Descriptive

According to Pierre Bourdieu, each

branch of culture is the product of :

(1) Social field

(2) Individual's creativity

(3) Individual's interaction

(4) Social roles

Out of the following who states that
'social  stratification  refers  to
differential ranking of human
individuals who compose a given
social system' ?

(1) Talcott Parsons

(2) R. K. Merton

(3) Kingsley Davis

(4) Robert Nisbet

Level-3/9212
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